
TT RG

9B 9A

przekrój budynku

DOM

POWIERZCHNIA DOMU:

POWIERZCHNIA DZIAŁKI:

POZIOM -1  pow. = 78,38 m²

9B

225,55 m²

Garaż

75,16 m²

Komunikacja

3,22 m²

280 m²
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przestrzeń niedostępna

poziom -1

wjazd do garażu



9B 9A

przekrój budynku

DOM

POWIERZCHNIA DOMU:

POWIERZCHNIA DZIAŁKI:

Taras

~ 4,77m²

POZIOM 0  pow. = 24,59 m²

9B

225,55 m²

280 m²
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Węzeł C.O.

1,76 m²

h
p

=
8

5

poziom 0

Pralnia

5,86 m²

Gabinet

10,78 m²

Komunikacja

6,19 m²

obrys garażu
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9B 9A

przekrój budynku

DOM

POWIERZCHNIA DOMU:

POWIERZCHNIA DZIAŁKI:

Balkon

~ 23,09m²

śmietnik

POZIOM +1  pow. = 64,97 m²

Taras / Ogródek

orientacyjna powierzchnia

137,24m²

9B

225,55 m²

280 m²
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poziom +1

Komunikacja

8,76 m²

Kuchnia z jadalnią

21,98 m²

w.c.

2,65 m²

Wiatrołap

3,30 m²

Salon

28,28 m²

K

obrys garażu

o
b

r
y
s
 
g

a
r
a

ż
u

- MIEJSCOWE OBNIŻENIE SUFITU



9B 9A

przekrój budynku

DOM

POWIERZCHNIA DOMU:

POWIERZCHNIA DZIAŁKI:

POZIOM +2  pow.= 57,59 m²

9B

225,55 m²

280 m²
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2,65
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2,20

wyłaz

1,80

2,20

2,65

Wnęka

garderobiana

  2,88 m²

Pokój

    12,83 m²

Komunikacja

9,10 m²

Pokój

10,67 m²
Pokój

12,68 m²

Łazienka

4,13 m²

Łazienka

5,30 m²

- MIEJSCOWE OBNIŻENIE SUFITU


